
Scientific Notation (H)Convert each number from scientific notation to an ordinary number.
1.6 × 10⁻⁶ = 7.58 × 10⁻⁴ =

7.302 × 10⁻⁵ = 9.3 × 10⁻⁸ =
2.129 × 10⁻⁶ = 7.12 × 10⁻⁸ =

7.9 × 10⁻⁸ = 5.06 × 10⁻⁶ =
3.567 × 10⁻³ = 3.37 × 10⁻⁶ =

1.8 × 10⁻³ = 7.001 × 10⁻⁶ =
5.04 × 10⁻⁴ = 9.4 × 10⁻⁸ =
4.3 × 10⁻⁴ = 8.04 × 10⁻³ =
7.9 × 10⁻⁴ = 6.67 × 10⁻⁵ =

5.64 × 10⁻⁴ = 5.9 × 10⁻⁵ =
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Scientific Notation (H) AnswersConvert each number from scientific notation to an ordinary number.
1.6 × 10⁻⁶ = 0.0000016 7.58 × 10⁻⁴ = 0.000758

7.302 × 10⁻⁵ = 0.00007302 9.3 × 10⁻⁸ = 0.000000093
2.129 × 10⁻⁶ = 0.000002129 7.12 × 10⁻⁸ = 0.0000000712

7.9 × 10⁻⁸ = 0.000000079 5.06 × 10⁻⁶ = 0.00000506
3.567 × 10⁻³ = 0.003567 3.37 × 10⁻⁶ = 0.00000337

1.8 × 10⁻³ = 0.0018 7.001 × 10⁻⁶ = 0.000007001
5.04 × 10⁻⁴ = 0.000504 9.4 × 10⁻⁸ = 0.000000094
4.3 × 10⁻⁴ = 0.00043 8.04 × 10⁻³ = 0.00804
7.9 × 10⁻⁴ = 0.00079 6.67 × 10⁻⁵ = 0.0000667

5.64 × 10⁻⁴ = 0.000564 5.9 × 10⁻⁵ = 0.000059
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